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NIVERSITY OF
TRATHCLYDE




in Glasgow
Department of Accounting and Finance

40207 Accounting 4

	Tuesday 18th January 2005
	2.00pm-4.00pm    2 hours


There are SIX questions in all

Answer BOTH questions in Section A

AND

ANY TWO questions from Section B

Calculators must not be used to store text and/or formulae nor be capable of communication. 

Invigilators may require calculators to be reset
Section A – answer BOTH questions

Question 1

M manufactures components for sale to the electronics industry. The following trial balance has been extracted from the enterprise’s financial records:
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Trial balance  at 30 September 2004

£m

£m

Administrative expenses

64

       

 

Cash and cash equivalents

98

       

 

Cost of sales

1,142

  

 

Deferred tax

291

     

 

Disposal of plant and equipment

11

       

 

Distribution costs

148

     

 

Dividend - interim paid

300

     

 

Income tax expense

37

       

 

Interest

72

       

 

Interest-bearing borrowings (repayable 2018)

1,450

  

 

Inventories as at 30/9/04

45

       

 

Plant and equipment - cost

794

     

 

Plant and equipment - depreciation to date

324

     

 

Property - cost or valuation

4,456

  

 

Property - depreciation to date

811

     

 

Provision for cost of sales

300

     

 

Retained profit brought forward

1,300

  

 

Revenue

2,970

  

 

Share capital

600

     

 

Trade payables

27

       

 

Trade receivables

980

     

 

8,110

  

 

8,110

  

 

 


(i) Plant and equipment which had cost £125 million and had been depreciated by £78m was sold during the year. New plant and equipment was purchased for £160m. These transactions have been included in the above figures. There were no other transactions involving fixed assets.

(ii) Depreciation for the year has still to be charged as follows:

Property

 


2% of cost

Plant and equipment


25% reducing balance

A whole year’s depreciation is charged in the year of acquisition and none in the year of disposal.

(iii) The trial balance figure for inventories is calculated on the following basis:

	
	Purchase price (£m)
	Attributable 

manufacturing 

overheads (£m)
	Attributable 

non-manufacturing 

overheads (£m)
	Total

 cost (£m)
	Net 

realisable

 value (£m)

	Current inventory
	26
	7
	3
	36
	51

	Obsolete inventory
	6
	2
	1
	9
	5

	Total
	
	
	
	45
	56


Total cost is lower than total net realisable value and so the directors have valued the inventory at £45m. The auditors have refused to accept this valuation, arguing that it is inconsistent with the requirements of IAS 2 Inventories. M’s directors have agreed to correct the stock figure to bring it into line with IAS 2.

(iv) The directors have estimated the tax charge for the year at £120m. The balance on the income tax expense account is the amount remaining after settling the liability for the year ended 30 September 2003.

(v) The provision for deferred tax has arisen from the timing differences arising from accelerated capital allowances on the enterprise’s non-current assets. The tax written down value of non-current assets at 30 September 2004 was £2,985m. It is estimated that tax will be paid at a rate of 30% when these timing differences reverse.

(vi) The directors declared a final dividend of £150 million before the balance sheet date.

(vii) M is a quoted enterprise. Authorised share capital is 800 million shares of £1.00. Issued share capital is 600 million shares of £1.00, fully paid. 

Requirement:

Prepare M’s profit and loss account for the year ended 30 September 2004 and its balance sheet as at that date. These should be in a form suitable for publication and should be accompanied by notes as far as you are able to prepare these from the information provided. 

You are NOT required to prepare a statement of accounting policies, a statement of recognised gains and losses or a statement of changes in equity. 

(30 marks)

Question 2

U plc acquired 80% of the share capital of P Ltd on 1 January 1998 when the balance on P Ltd's profit and loss account was £320,000.

The latest sets of financial statements for the two companies are as follows:
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£000

£000

£000

£000

Turnover

6,000

   

 

4,500

  

 

Cost of sales

(1,800)

  

 

(1,100)

 

Gross profit 

4,200

   

 

3,400

  

 

Administration

(680)

    

 

(380)

   

 

Distribution

(480)

    

 

(240)

   

 

Interest payable

(47)

      

 

(90)

    

 

Dividend income

400

     

 

-

    

 

(807)

     

 

(710)

   

 

 Profit before tax

3,393

   

 

2,690

  

 

Corporation tax

(1,300)

  

 

(700)

   

 

2,093

   

 

1,990

  

 

Dividends

(700)

     

 

(500)

   

 

1,393

   

 

1,490

  

 

Balance brought forward

880

      

 

720

    

 

2,273

   

 

2,210

  

 

 Balance sheets as at 31 December 2004

£000

£000

£000

£000

Fixed assets

Tangible

9,500

   

 

3,700

  

 

Investment in P Ltd

2,100

   

 

-

     

 

11,600

  

 

3,700

  

 

Current assets 

Stocks

650

     

 

400

    

 

Debtors

1,200

   

 

550

    

 

Bank

88

       

 

48

      

 

1,938

   

 

998

    

 

Current liabilities 

Creditors

(150)

    

 

(85)

    

 

Taxation

(1,200)

  

 

(740)

   

 

(1,350)

  

 

(825)

   

 

Working capital

588

      

 

173

    

 

12,188

  

 

3,873

  

 

Long term liabilities

Bank loan

(400)

     

 

Loan stock 

(700)

   

 

11,788

  

 

3,173

  

 

Share Capital 

8,000

   

 

500

    

 

Share Premium

1,515

   

 

463

    

 

Profit and loss

2,273

   

 

2,210

  

 

11,788

  

 

3,173

  

 

U plc

P Ltd

U plc

P Ltd


Notes                                                               

(1) 
P Ltd has not issued or redeemed any shares since it was taken over by U plc.                                                

(2) 
During the year U plc sold goods to P Ltd for £400,000. These were transferred at cost plus a mark-up of 20%. Only 70% of the goods were resold before 31 December 2004.                         

(3) 
The dividend income in U plc's profit and loss account consist of the company's share of P Ltd's dividends.

Required:                                                           

(i) 
Prepare a consolidated profit and loss account and balance sheet for U plc and its subsidiary.                                 

(20 marks)

(ii)
Explain the relevance of the goodwill on consolidation in your consolidated balance sheet.
(5 marks)
(iii)
Explain how U plc would go about testing the figure for goodwill on consolidation for impairment.

(5 marks)

(Total:  30 marks)
Section B – answer TWO questions

Question 3

Explain the advantages and disadvantages of providing professionally qualified accountants with codified accounting standards.

(20 marks)

Question 4

It has been argued that the “boring” stereotype is advantageous to the accountancy profession. Explain whether you agree with this view.

(20 marks)

Question 5

The reconciliation of movements in shareholders’ funds and the statement of total gains and losses appear to blur the distinction between movements in shareholder wealth and profit. Discuss the implications of this change of emphasis for financial reporting.

(20 marks)

Question 6

Discuss the assertion that the capitalisation of interest on the acquisition of property is an example of “bad” accounting forced into the regulations by political pressure from the preparers of financial statements.  

(20 marks)

END OF PAPER
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		M

		Trial balance  at 30 September 2004

				£m		£m

		Administrative expenses		64

		Cash and cash equivalents		98

		Cost of sales		1,142

		Deferred tax				291

		Disposal of plant and equipment		11

		Distribution costs		148

		Dividend - interim paid		300

		Income tax expense				37

		Interest		72

		Interest-bearing borrowings (repayable 2018)				1,450

		Inventories as at 30/9/04		45

		Plant and equipment - cost		794

		Plant and equipment - depreciation to date				324

		Property - cost or valuation		4,456

		Property - depreciation to date				811

		Provision for cost of sales				300

		Retained profit brought forward				1,300

		Revenue				2,970

		Share capital				600

		Trade payables				27

		Trade receivables		980

				8,110		8,110
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Sheet1

		Profit and Loss Accounts for the year ended 31 December 2004

				U plc				P Ltd

				£000		£000		£000		£000

		Turnover				6,000				4,500

		Cost of sales				(1,800)				(1,100)

		Gross profit				4,200				3,400

		Administration		(680)				(380)

		Distribution		(480)				(240)

		Interest payable		(47)				(90)

		Dividend income		400				- 0

						(807)				(710)

		Profit before tax				3,393				2,690

		Corporation tax				(1,300)				(700)

						2,093				1,990

		Dividends				(700)				(500)

						1,393				1,490

		Balance brought forward				880				720

						2,273				2,210

		Balance sheets as at 31 December 2004

				U plc				P Ltd

				£000		£000		£000		£000

		Fixed assets

		Tangible				9,500				3,700

		Investment in P Ltd				2,100				- 0

						11,600				3,700

		Current assets

		Stocks		650				400

		Debtors		1,200				550

		Bank		88				48

				1,938				998

		Current liabilities

		Creditors		(150)				(85)

		Taxation		(1,200)				(740)

				(1,350)				(825)

		Working capital				588				173

						12,188				3,873

		Long term liabilities

		Bank loan				(400)

		Loan stock								(700)

						11,788				3,173

		Share Capital				8,000				500

		Share Premium				1,515				463

		Profit and loss				2,273				2,210

						11,788				3,173
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